/. LOMBARDID rocssuperrocs

A KOHLER. CPigihé: LDW 502 Citycar AL Drawing: A

INTAKE AND EXHAUST
POS. |CODE DESCRIPTION Qty

1 8741.183 air cleaner support 1
2 9730.031 screw M 8 X 40 2
3 90732.0064 screw M 8 X 30 1
4 4420.080 inl.manifold gasket 1
5 4420.070 eXh.manifold gasket 2
6 2486.229 eXhaust manifold 1
7 6780.028 stud M 8 X 55 (67) 4
9 B240.163 nut M 8 4
10 8545.551 bracket diam.129 for air cleaner 4'' 1
12 9305.081 blow-by pipe 1
13 B240.163 nut M 8 2
14 38825.020 flange for muffler 1
15 4420.076 eXhaust gasket 1
16 $780.171 stud M 8 X 22 2
25 2175.1064 air clean.cartridge 1
26 2605.100 cover (flywheel side inlet) 1
26 2605.101 cover (gear side inlet) 1
27 5055.055 panel 1
30 9730.035 screw M 8 X 65 5
42 2486.265 inlet manifold 1
44 2486.240 eXh.manifold with front outlet 1
47 3700.369 dry air cleaner 4'' 1
48 2175.166 air cleaner cartridge 4'' 1
49 6491.031 discharging elbow 1
51 2136.072 filter cap (4'' air cleaner) 1
68 4501.081 gasket 1
70a B866.105 inlet flange 1
77 6927.318 muffler guard (inlet side) 1
78 5460.464 MUFFLER ASS.Y 1
79 6927.319 muffler guard (outlet side) 1
80 9170.127 eXhaust pipe with spark arrester 1

printed by LOMBARDINI: 29/03/2018 -

1




Engine: LDW 502 Citycar AL Drawing: A

FOCS
SUPERFOCS

printed by LOMBARDINI: 29/03/2018



